Year 4 Arithmetic Test 6 teStbase

9x5=

1 mark
T x4=

1 mark
89 x0=

1 mark
70-7-7=

1 mark
7220 - 1000 =

1 mark
5600 + 3200 =

1 mark
18+9+9=

1 mark
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Year 4 Arithmetic Test 6 teStbase

56 +1=
1 mark
6999 + 583 =
1 mark
1 2
— 4 — =
5
1 mark
8 _3_
7 7
1 mark
9898
- 1212
1 mark
3x4x7T=
1 mark
420 + ? =600
1 mark
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Year 4 Arithmetic Test 6 teStbase

3x12=

1 mark
8x8=

1 mark
66 -6 =

1 mark
24 + 3=

1 mark
?-520 =340

1 mark
Ex3x4=

1 mark
2345 -804 =

1 mark
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Year 4 Arithmetic Test 6 teStbase

38
x 7
1 mark
81 +9=
1 mark
121 +11=
1 mark
186
x 3
1 mark
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Year 4 Arithmetic Test 6

testbase

Mark scheme

1. 45

2. 28

3. O

4 56

5. 6220
6. 8800
7 36

8 56

9. 7582

3
10. E or equivalent

11. gor equivalent

12. 8686
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84

180

36

64

11

860

60

1541

266

11

558
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